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3. Player 1 and 2 are playing a simultaneous move game. The payoffs for each player are specified in the 

following matrixes with the first number representing the payoff for player 1 and the second number 

for player 2 in each cell. There is only one type of player 2 but two types of player 1, 'normal' with 

probability (1!2) or 'crazy' with probability (112). When player 1 is normal, the payoff matrix is as 

follows. 

When player 1 is crazy, the payoff matrix is as follows. 
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Please find all Bayesian Nash equilibria. (20 .fS) 
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